

Page 1 of 24

Contract ID: 18600 Counties: STATEWIDE

Call Order: 468 Project(s): STP-D00S(151)

Contract Time: 09/07/20 COMPLETION DATE Min: Max:

	o / Item ID escription		(1) ORCHARD H	OLDINGS, LLC	(2) DAIDONE E	LECTRIC, INC.	(3) HBC CO	MPANY, INC.
	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	N : 0001	Roadway		Cat Alt Set:		Cat Alt Member:		
0001	151006M	1.000	30,000.00000	30,000.00	31,000.00000	31,000.00	38,500.00000	38,500.00
PERFORM PAYMEN	MANCE BOND AND T BOND	DOLL						
0004	153003P	(1)	7,160.00000	7,160.00	500.00000	500.00	7,500.00000	7,500.00
PROGRE	SS SCHEDULE	LS						
0005	153005M	13.000	725.00000	9,425.00	1.00000	13.00	750.00000	9,750.00
PROGRE	SS SCHEDULE UPD	DATE U						
0006	153011M	500.000	0.01000	5.00	1.00000	500.00	1.00000	500.00
TRAINEE	S	HOUR						
0007	154003P	(1)	333,330.00000	333,330.00	376,465.60000	376,465.60	450,000.00000	450,000.00
MOBILIZA	ATION	LS						
0010	159003M	150.000	0.01000	1.50	1.00000	150.00	65.00000	9,750.00
BREAKAV	WAY BARRICADE	U						



Page 2 of 24

Contract ID: 18600 Counties: STATEWIDE

Call Order: 468 Project(s): STP-D00S(151)

Contract Time: 09/07/20 COMPLETION DATE Min: Max:

	o / Item ID escription		(1) ORCHARD H	OLDINGS, LLC	(2) DAIDONE E	LECTRIC, INC.	(3) HBC CO	MPANY, INC.
		Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	Roadway		Cat Alt Set:		Cat Alt Member:		
0011	159006M	150.000	0.01000	1.50	1.00000	150.00	55.00000	8,250.00
DRUM		U						
0012	159009M	300.000	0.01000	3.00	1.00000	300.00	20.00000	6,000.00
TRAFFIC	CONE	U						
0013	159012M	2,000.000	0.01000	20.00	1.00000	2,000.00	15.00000	30,000.00
CONSTR	UCTION SIGNS	SF						
0014	159027M	6.000	1.00000	6.00	100.00000	600.00	600.00000	3,600.00
FLASHIN	G ARROW BOARD, 4'	X 8' U						
0015	159108M	6.000	1.00000	6.00	2,000.00000	12,000.00	4,500.00000	27,000.00
	CONTROL TRUCK WED CRASH CUSHION	'ITH U						
0016	161003P	(1)	1.00000	1.00	1.00000	1.00	10,500.00000	10,500.00
FINAL CL	EANUP	LS						



Page 3 of 24

Contract ID: 18600 Counties: STATEWIDE

Letting Date: December 06, 2018 District(s): H4

Call Order: 468 Project(s): STP-D00S(151)

Contract Time: 09/07/20 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(1) ORCHARD HOLDINGS, LLC		(2) DAIDONE ELECTRIC, INC.		(3) HBC COMPANY, INC.	
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	Roadway		Cat Alt	t Set:	Cat A	It Member:	
0017 201003P	(1)	231,355.00000	231,355.00	1.00000	1.00	40,000.00000	40,000.00
CLEARING SITE	LS						
Section Totals:			\$611,314.00		\$423,680.60		\$641,350.00



Page 4 of 24

Contract ID: 18600 Counties: STATEWIDE

Letting Date: December 06, 2018 District(s): H4

Call Order: 468 Project(s): STP-D00S(151)

Contract Time: 09/07/20 COMPLETION DATE Min: Max:

	o / Item ID escription		(1) ORCHARD HOLDINGS, LL		(2) DAIDONE ELECTRIC, INC.		(3) HBC COMPANY, INC.	
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N: 0002	Construction E	ngineering	Cat Alt	Set:	Cat A	It Member:	
8000	155006M	1.000	23,400.00000	23,400.00	25,000.00000	25,000.00	40,000.00000	40,000.00
FIELD OF	FFICE TYPE B SET I	JP U						
0009	155024M	13.000	2,925.00000	38,025.00	2,500.00000	32,500.00	2,500.00000	32,500.00
FIELD OF MAINTEN	FFICE TYPE B NANCE	MO						
Section	on Totals:			\$61,425.00		\$57,500.00		\$72,500.00



Page 5 of 24

Contract ID: 18600 Counties: STATEWIDE

Letting Date: December 06, 2018 District(s): H4

Call Order: 468 Project(s): STP-D00S(151)

Contract Time: 09/07/20 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(1) ORCHARD HOLDINGS, LLC		(2) DAIDONE ELECTRIC, INC.		(3) HBC COMPANY, INC.	
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0003	Non-Participati	ng (Roadway)	Cat Alt	Set:	Cat A	It Member:	
0002 152004P	1.000	6,000.00000	6,000.00	5,300.00000	5,300.00	8,500.00000	8,500.00
OWNER'S AND CONTRAC PROTECTIVE LIABILITY INSURANCE	TOR'S DOLL						
0003 152015P	1.000	19,000.00000	19,000.00	1.00000	1.00	15,000.00000	15,000.00
POLLUTION LIABILITY INS	SURANCE DOLL						
Section Totals:			\$25,000.00		\$5,301.00		\$23,500.00



Page 6 of 24

Contract ID: 18600 Counties: STATEWIDE

Call Order: 468 Project(s): STP-D00S(151)

Contract Time: 09/07/20 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(1) ORCHARD H	OLDINGS, LLC	(2) DAIDONE E	LECTRIC, INC.	(3) HBC CO	MPANY, INC.
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0004	Intelligent Trans	sportation Syster	m (ITS) Cat Ali	Set:	Cat A	It Member:	
0018 704029M	1.000	7,835.00000	7,835.00	10,295.90000	10,295.90	11,200.00000	11,200.00
COMMUNICATION HUB MODIFICATIONS (GPS CAB (METHOD B))	U						
0019 704029M	1.000	1,835.00000	1,835.00	1,949.30000	1,949.30	2,100.00000	2,100.00
COMMUNICATION HUB MODIFICATIONS (HUB 1)	U						
0020 704029M	1.000	11,640.00000	11,640.00	4,808.20000	4,808.20	12,000.00000	12,000.00
COMMUNICATION HUB MODIFICATIONS (HUB 2)	U						
0021 704029M	1.000	3,600.00000	3,600.00	5,457.90000	5,457.90	4,000.00000	4,000.00
COMMUNICATION HUB MODIFICATIONS (HUB 3)	U						
0022 704029M	1.000	1,500.00000	1,500.00	5,457.90000	5,457.90	2,000.00000	2,000.00
COMMUNICATION HUB MODIFICATIONS (HUB 4)	U						



Page 7 of 24

Contract ID: 18600 Counties: STATEWIDE

Call Order: 468 Project(s): STP-D00S(151)

Contract Time: 09/07/20 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(1) ORCHARD H	OLDINGS, LLC	(2) DAIDONE EI	LECTRIC, INC.	(3) HBC CO	MPANY, INC.
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0004	Intelligent Tran	nsportation System (ITS) Cat Alt Set:		t Set:	Cat Alt Member:		
0023 704029M	1.000	1,500.00000	1,500.00	5,457.90000	5,457.90	2,000.00000	2,000.00
COMMUNICATION HUB MODIFICATIONS (HUB 5)	U						
0024 704029M	1.000	1,800.00000	1,800.00	5,457.90000	5,457.90	2,200.00000	2,200.00
COMMUNICATION HUB MODIFICATIONS (HUB 12)	U						
0025 704029M	1.000	1,430.00000	1,430.00	5,457.90000	5,457.90	2,100.00000	2,100.00
COMMUNICATION HUB MODIFICATIONS (HUB 13)	U						
0026 704029M	1.000	20,630.00000	20,630.00	26,962.00000	26,962.00	18,000.00000	18,000.00
COMMUNICATION HUB MODIFICATIONS (CLIFTON CABINET)	U						



Page 8 of 24

Contract ID: 18600 Counties: STATEWIDE

Call Order: 468 Project(s): STP-D00S(151)

Contract Time: 09/07/20 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(1) ORCHARD H	OLDINGS, LLC	(2) DAIDONE E	LECTRIC, INC.	(3) HBC CO	MPANY, INC.
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0004	Intelligent Tran	nsportation System (ITS) Cat Alt Set:			Cat Alt Member:		
0027 704029M	1.000	11,180.00000	11,180.00	2,339.10000	2,339.10	11,500.00000	11,500.00
COMMUNICATION HUB MODIFICATIONS (CLEME BRIDGE MASTER)	U NTS						
0028 704029M	1.000	1,380.00000	1,380.00	2,339.10000	2,339.10	2,500.00000	2,500.00
COMMUNICATION HUB MODIFICATIONS (AIRPOF CIRCLE MASTER)	U RT						
0029 704029M	1.000	18,730.00000	18,730.00	26,442.20000	26,442.20	21,000.00000	21,000.00
COMMUNICATION HUB MODIFICATIONS (TUNNE CONTROL BULIDING)	U						
0030 704033P	(1)	5,400.00000	5,400.00	7,797.00000	7,797.00	6,000.00000	6,000.00
CONTROL CENTER SYST LOCATION NO (LOCATION)	,						



Page 9 of 24

Contract ID: 18600 Counties: STATEWIDE

Letting Date: December 06, 2018 District(s): H4

Call Order: 468 Project(s): STP-D00S(151)

Contract Time: 09/07/20 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(1) ORCHARD H	OLDINGS, LLC	(2) DAIDONE E	LECTRIC, INC.	(3) HBC CO	MPANY, INC.
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0004	Intelligent Tran	sportation Syster	m (ITS) Cat Ali	Set:	Cat A	It Member:	
0031 704033P CONTROL CENTER SYS LOCATION NO (LOC TOCS)	•	19,820.00000	19,820.00	33,956.70000	33,956.70	28,500.00000	28,500.00
0032 704033P CONTROL CENTER SYS LOCATION NO (LOC ELMWOOD PARK NODE)	CATION	9,720.00000	9,720.00	14,337.40000	14,337.40	12,500.00000	12,500.00
0033 704060M CAMERA	20.000 U	10,900.00000	218,000.00	10,309.00000	206,180.00	21,000.00000	420,000.00
0034 704063M CONTROLLER, CAMERA	21.000 U	15,380.00000	322,980.00	18,300.80000	384,316.80	35,000.00000	735,000.00
0035 704078P FIBER OPTIC CABLE TYPE	10,000.000 PEE LF	6.00000	60,000.00	7.00000	70,000.00	15.00000	150,000.00



Page 10 of 24

Contract ID: 18600 Counties: STATEWIDE

Letting Date: December 06, 2018 District(s): H4

Call Order: 468 Project(s): STP-D00S(151)

Contract Time: 09/07/20 COMPLETION DATE Min: Max:

	o / Item ID escription		(1) ORCHARD H	OLDINGS, LLC	(2) DAIDONE E	LECTRIC, INC.	(3) HBC CO	MPANY, INC.
		Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0004 Intelligent Tran		sportation Syster	m (ITS) Cat Ali	Set: Cat Alt Member:				
0036	704079M	22.000	2,400.00000	52,800.00	1.00000	22.00	4,500.00000	99,000.00
FIBER O	PTIC SPLICE (1-8 FIBE	ERS) U						
0037	704081P	80.000	52.50000	4,200.00	58.10000	4,648.00	75.00000	6,000.00
FIBER O	PTIC CABLE TYPE F	LF						
0038	704106M	72.000	10,585.00000	762,120.00	13,000.00000	936,000.00	12,500.00000	900,000.00
	OLLER MODIFICATION A (METHOD A)	S, U						
0039	704106M	66.000	8,660.00000	571,560.00	12,000.00000	792,000.00	10,100.00000	666,600.00
	OLLER MODIFICATION A (METHOD B)	S, U						
0040	704106M	57.000	4,140.00000	235,980.00	6,000.00000	342,000.00	5,200.00000	296,400.00
	DLLER MODIFICATION A (METHOD C)	S, U						



Page 11 of 24

Contract ID: 18600 Counties: STATEWIDE

Letting Date: December 06, 2018 District(s): H4

Call Order: 468 Project(s): STP-D00S(151)

Contract Time: 09/07/20 COMPLETION DATE Min: Max:

Line No / Item Descri			(1) ORCHARD H	OLDINGS, LLC	(2) DAIDONE E	LECTRIC, INC.	(3) HBC CO	MPANY, INC.
Alt Set / Alt	·	antity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	0004	Intelligent Tran	sportation Syster	m (ITS) Cat Alt	Set:	Cat Alt Member:		
0041 704	4106M	19.000	3,455.00000	65,645.00	9,000.00000	171,000.00	4,900.00000	93,100.00
CONTROLLEI CAMERA (ME	R MODIFICATIONS, ETHOD D)	U						
0042 704	4106M	134.000	2,115.00000	283,410.00	3,750.00000	502,500.00	2,850.00000	381,900.00
CONTROLLEI CAMERA (ME	R MODIFICATIONS, THOD E)	U						
0043 704	4106M	12.000	3,460.00000	41,520.00	4,000.00000	48,000.00	4,800.00000	57,600.00
CONTROLLEI CAMERA (ME	R MODIFICATIONS, THOD F)	U						
0044 704	4185M	4.000	8,645.00000	34,580.00	9,583.80000	38,335.20	13,650.00000	54,600.00
CONTROLLEI DMS (METHO	R MODIFICATIONS, DD B)	U						
Section To	otals:			\$2,770,795.00		\$3,653,518.40		\$3,997,800.00
	Contrac	et Totals		\$3,468,534.00		\$4,140,000.00		\$4,735,150.00



Page 12 of 24

Contract ID: 18600

Counties: STATEWIDE

Letting Date: December 06, 2018

District(s): H4

Call Order: 468

Project(s): STP-D00S(151)

Contract Time: 09/07/20 COMPLETION DATE

Min: Max:

Contract Description: Traffic Surveillance Camera Communication Conversion

Cost Plus Time Totals \$3,468,534.00

\$4,140,000.00

4,735,150.00

() indicates item is bid as Lump Sum



Page 13 of 24

Contract ID: 18600 Counties: STATEWIDE

Letting Date: December 06, 2018 District(s): H4

Call Order: 468 Project(s): STP-D00S(151)

Contract Time: 09/07/20 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(4) ALLAN BRITEWAY ELECTRICAL UTILITY CONTRACTORS, INC.					
Alt Set /	Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	I: 0001	Roadway	Cat Alt S		t Set: Cat Al		It Member:	
0001	151006M	1.000	70,000.00000	70,000.00				
PERFORM PAYMENT	MANCE BOND AND BOND	DOLL						
0004	153003P	(1)	25,000.00000	25,000.00				
PROGRES	SS SCHEDULE	LS						
0005	153005M	13.000	6,825.48000	88,731.24				
PROGRES	SS SCHEDULE UPD	ATE U						
0006	153011M	500.000	147.93000	73,965.00				
TRAINEES	8	HOUR						
0007	154003P	(1)	49,000.00000	49,000.00				
MOBILIZA [*]	TION	LS						
		·		·				



Page 14 of 24

Contract ID: 18600 Counties: STATEWIDE

Letting Date: December 06, 2018 District(s): H4

Call Order: 468 Project(s): STP-D00S(151)

Contract Time: 09/07/20 COMPLETION DATE Min: Max:

Line No / Item I		ELECTRICA	BRITEWAY AL UTILITY TORS, INC.				
Alt Set / Alt Me	nber Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway			Cat Al	t Set:	Cat Alt Member:		
0010 159003	M 150.000	1.00000	150.00				
BREAKAWAY BA	RRICADE U						
0011 159006	M 150.000	1.00000	150.00				
DRUM	U						
0012 159009	M 300.000	1.00000	300.00				
TRAFFIC CONE	U						
0013 159012	M 2,000.000	1.40000	2,800.00				
CONSTRUCTION	SIGNS SF						
0014 159027	M 6.000	1.00000	6.00				
FLASHING ARRO	W BOARD, 4' X 8' U						



Page 15 of 24

Contract ID: 18600 Counties: STATEWIDE

Letting Date: December 06, 2018 District(s): H4

Call Order: 468 Project(s): STP-D00S(151)

Contract Time: 09/07/20 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(4) ALLAN BRITEWAY ELECTRICAL UTILITY CONTRACTORS, INC.						
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	Roadway		Cat Alt	: Set:	Cat A	It Member:	
0015	159108M	6.000	1.00000	6.00				
	CONTROL TRUCK D CRASH CUSHIO							
0016	161003P	(1)	8,417.20000	8,417.20				
FINAL CL	EANUP	LS						
0017	201003P	(1)	9,417.20000	9,417.20				
CLEARIN	IG SITE	LS						
Section	on Totals:			\$327,942.64				



Page 16 of 24

Contract ID: 18600 Counties: STATEWIDE

Letting Date: December 06, 2018 District(s): H4

Call Order: 468 Project(s): STP-D00S(151)

Contract Time: 09/07/20 COMPLETION DATE Min: Max:

Line No / Item II Item Description		(4) ALLAN ELECTRIC CONTRAC	AL UTILITY				
Alt Set / Alt Mer	nber Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 000	2 Construction	Engineering	Cat Al	t Set:	Cat A	It Member:	
0008 155006	M 1.000	20,366.88000	20,366.88				
FIELD OFFICE TY	PE B SET UP U						
0009 155024	M 13.000	3,933.44000	51,134.72				
FIELD OFFICE TY MAINTENANCE	РЕ В МО						
Section Totals	:		\$71,501.60				



Page 17 of 24

Contract ID: 18600 Counties: STATEWIDE

Letting Date: December 06, 2018 District(s): H4

Call Order: 468 Project(s): STP-D00S(151)

Contract Time: 09/07/20 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(4) ALLAN E ELECTRICA CONTRACT	L UTILITY				
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0003	Non-Participati	ng (Roadway)	Cat Alt	: Set:	Cat A	It Member:	
0002 152004P	1.000	7,200.00000	7,200.00				
OWNER'S AND CONTRACTOR PROTECTIVE LIABILITY INSURANCE	OR'S DOLL						
0003 152015P	1.000	13,600.00000	13,600.00				
POLLUTION LIABILITY INSU	IRANCE DOLL						
Section Totals:			\$20,800.00				



Page 18 of 24

Contract ID: 18600 Counties: STATEWIDE

Letting Date: December 06, 2018 District(s): H4

Call Order: 468 Project(s): STP-D00S(151)

Contract Time: 09/07/20 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(4) ALLAN E ELECTRICA CONTRACT	L UTILITY				
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0004	Intelligent Tran	sportation Syster	n (ITS) Cat Al	t Set:	Cat A	It Member:	
0018 704029M	1.000	11,366.88000	11,366.88				
COMMUNICATION HUB MODIFICATIONS (GPS CAE (METHOD B))	U BINET						
0019 704029M	1.000	5,366.88000	5,366.88				
COMMUNICATION HUB MODIFICATIONS (HUB 1)	U						
0020 704029M	1.000	15,550.32000	15,550.32				
COMMUNICATION HUB MODIFICATIONS (HUB 2)	U						
0021 704029M	1.000	8,866.88000	8,866.88				
COMMUNICATION HUB MODIFICATIONS (HUB 3)	U						



Page 19 of 24

Contract ID: 18600 Counties: STATEWIDE

Letting Date: December 06, 2018 District(s): H4

Call Order: 468 Project(s): STP-D00S(151)

Contract Time: 09/07/20 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(4) ALLAN E ELECTRICA CONTRACT	L UTILITY				
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0004	Intelligent Trans	sportation Syster	n (ITS) Cat Alt	Set:	Cat A	It Member:	
0022 704029M	1.000	6,366.88000	6,366.88				
COMMUNICATION HUB MODIFICATIONS (HUB 4)	U						
0023 704029M	1.000	8,866.88000	8,866.88				
COMMUNICATION HUB MODIFICATIONS (HUB 5)	U						
0024 704029M	1.000	5,366.88000	5,366.88				
COMMUNICATION HUB MODIFICATIONS (HUB 12)	U						
0025 704029M	1.000	5,366.88000	5,366.88				
COMMUNICATION HUB MODIFICATIONS (HUB 13)	U						



Page 20 of 24

Contract ID: 18600 Counties: STATEWIDE

Letting Date: December 06, 2018 District(s): H4

Call Order: 468 Project(s): STP-D00S(151)

Contract Time: 09/07/20 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(4) ALLAN E ELECTRICA CONTRACT	AL UTILITY				
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0004	Intelligent Tran	sportation Syster	m (ITS) Cat Alt	t Set:	et: Cat Alt Member:		
0026 704029M	1.000	25,233.76000	25,233.76				
COMMUNICATION HUB MODIFICATIONS (CLIFTON CABINET)	U						
0027 704029M	1.000	13,866.88000	13,866.88				
COMMUNICATION HUB MODIFICATIONS (CLEMEN BRIDGE MASTER)	U TS						
0028 704029M	1.000	13,866.88000	13,866.88				
COMMUNICATION HUB MODIFICATIONS (AIRPORT CIRCLE MASTER)	U						
0029 704029M	1.000	25,233.76000	25,233.76				
COMMUNICATION HUB MODIFICATIONS (TUNNEL CONTROL BULIDING)	U						



Page 21 of 24

Contract ID: 18600 Counties: STATEWIDE

Letting Date: December 06, 2018 District(s): H4

Call Order: 468 Project(s): STP-D00S(151)

Contract Time: 09/07/20 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(4) ALLAN E ELECTRICA CONTRACT	AL UTILITY				
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0004	Intelligent Tran	sportation Syster	m (ITS) Cat Al	t Set:	Set: Cat Alt Member:		
0030 704033P	(1)	5,366.88000	5,366.88				
CONTROL CENTER SYSTEM LOCATION NO (LOCAT STMC)							
0031 704033P	(1)	28,550.32000	28,550.32				
CONTROL CENTER SYSTEM LOCATION NO (LOCAT TOCS)							
0032 704033P	(1)	17,366.88000	17,366.88				
CONTROL CENTER SYSTEM LOCATION NO (LOCAT ELMWOOD PARK NODE)							
0033 704060M	20.000	14,566.88000	291,337.60				
CAMERA	U						



Page 22 of 24

Contract ID: 18600 Counties: STATEWIDE

Letting Date: December 06, 2018 District(s): H4

Call Order: 468 Project(s): STP-D00S(151)

Contract Time: 09/07/20 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		ELECTRIC	BRITEWAY AL UTILITY TORS, INC.				
Alt Set / Alt Memb	per Quantity and U	nits Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0004	Intelligent ⁻	Transportation Syste	em (ITS) Cat Al	t Set:	Cat A	It Member:	
0034 704063M	21.00	0 16,866.88000	354,204.48				
CONTROLLER, CAN	MERA	J					
0035 704078P	10,000.00	0 36.84000	368,400.00				
FIBER OPTIC CABL	E TYPE E L	F					
0036 704079M	22.00	0 10,050.32000	221,107.04				
FIBER OPTIC SPLIC	CE (1-8 FIBERS)	J					
0037 704081P	80.00	0 36.59000	2,927.20				
FIBER OPTIC CABL	E TYPE F L	F					
0038 704106M	72.00	0 16,300.32000	1,173,623.04				
CONTROLLER MOD CAMERA (METHOD		J					



Page 23 of 24

Contract ID: 18600 Counties: STATEWIDE

Letting Date: December 06, 2018 District(s): H4

Call Order: 468 Project(s): STP-D00S(151)

Contract Time: 09/07/20 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(4) ALLAN E ELECTRICA CONTRACT	L UTILITY				
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0004	Intelligent Tran	sportation Systen	n (ITS) Cat Al	t Set:	Cat A	It Member:	
0039 704106M	66.000	15,150.32000	999,921.12				
CONTROLLER MODIFICAT CAMERA (METHOD B)	TIONS, U						
0040 704106M	57.000	9,900.32000	564,318.24				
CONTROLLER MODIFICAT CAMERA (METHOD C)	TIONS, U						
0041 704106M	19.000	9,300.32000	176,706.08				
CONTROLLER MODIFICAT CAMERA (METHOD D)	ΓΙΟΝS, U						
0042 704106M	134.000	4,616.88000	618,661.92				
CONTROLLER MODIFICAT CAMERA (METHOD E)	TIONS, U						



Page 24 of 24

Contract ID: 18600 Counties: STATEWIDE

Letting Date: December 06, 2018 District(s): H4

Call Order: 468 Project(s): STP-D00S(151)

Contract Time: 09/07/20 COMPLETION DATE Min: Max:

Contract Description: Traffic Surveillance Camera Communication Conversion

Line No / Item ID Item Description		(4) ALLAN E ELECTRICA CONTRACT	L UTILITY				
Alt Set / Alt Member Qu	antity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0004	Intelligent Tran	sportation Syster	m (ITS) Cat Alf	Set:	Cat A	It Member:	
0043 704106M	12.000	9,550.32000	114,603.84				
CONTROLLER MODIFICATIONS CAMERA (METHOD F)	, U						
0044 704185M	4.000	15,550.32000	62,201.28				
CONTROLLER MODIFICATIONS DMS (METHOD B)	, U						
Section Totals:			\$5,144,615.68				
Contra	ct Totals		\$5,564,859.92				
Cost Plus	Time Totals		\$5,564,859.92				

() indicates item is bid as Lump Sum $\,$



Vendor Ranking

Page: 1

Call Order: 468 Contract ID: 18600 Counties: STATEWIDE

Letting Date: December 06, 2018 10:00 AM District(s): H4

Contract Time: 09/07/20 COMPLETION DATE

Contract Description: Traffic Surveillance Camera Communication Conversion Project(s): STP-D00S(151)

Rank	Vendo	or ID/Name	Total Bid	Percent Of Low Bid
1	O6472	ORCHARD HOLDINGS, LLC	\$3,468,534.00	100.00%
2	D0179	DAIDONE ELECTRIC, INC.	\$4,140,000.00	119.36%
3	H1717	HBC COMPANY, INC.	\$4,735,150.00	136.52%
4	A5428	ALLAN BRITEWAY ELECTRICAL UTILITY CONTRACTORS, INC.	Irregular	000.00%

I CERTIFY THAT THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.

SIGNED,